Kit contents

(A)
(B)
(€)
(D)
(E)
(F)
(G)
(H)

ROADS//2

Part Number—DDHIL

Suits the following vehicles
Toyota Hilux KUN 2# 2005>
Toyota Prado 120 series
Toyota Prado 150 series —
Toyota FJ Cruiser

2 x M12 x P1.75 x 160L . ~
2 x 49mm x 25mm (13mm ID) Round Spacers Alloy O o ( ) (O) (O ‘ OO

4 x M12 Flat Washer

2 x M12 nuts

4 x M8 x P1.25 x 45L

4 x M8 Split Washer

4 x M8 Flat Washer

4 x 24.5mm x 25mm (8.6mm ID) Round Spacers Alloy

Installation Guidelines

Step 1 -
Step 2 -
Step 3 -
Step 4 -
Step 5 -

Step 6 -

Step7 -

Support vehicle properly on stands or hoist

Remove 4 bolts from the front sump guard

Remove 2 bolts from front diff mounts. Diff will not fall when these bolts are removed.

Place the two large black spacers between the chassis and the factory diff mounts.

Replace the factory bolts with the 2 x new 12mm bolts included with the kit (inc. nuts & washers).

Tighten to factory torque specifications.

Place the four small spacers between the front sump guard & chassis, and replace original bolts (removed in step 2) with the
4 x 8mm bolts included with the kit (inc. split & flat washers). Tighten to factory torque specifications.

Recheck all bolts to factory torque specifications, and lower vehicle.



